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Plot Sensor and FgRec Data
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Trend plot forP3-13 0
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P3-13

BfiE) | FEBEETHC (FY) | EB=E (EH/FK) | XK TR
12:20 288 150.0 |/\f| {Ri&@12:20 Bzh (GRE{ERSR)
2it| 288.0 (1)k) 150.0 32353 KEC: 2080.0, PH: 5.8

TERRHLER 2 STEELRT (187.0 :

ZRIAEBRIERL144.0 ml.

HEERECE (2620. 0 vs 3640.0) FS

144.0), FlEEHT—R % XA HS
AEREMEC (2620.0) 5i%EEC (2000.0) RELK KA, /T




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)
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cumET (ml/plant)
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P3-13

BfiE) | EBIETK (D) | EB=E (EH/EK) | XK EFE

08:15 288 150.0 (& =| 1Ri%e08:15 Bz (kPBERESE)
09:15 288 150.0 |Z=| 1Ri&e09:15 Bz (KPBEEE)
10:20 288 150.0 |Z=| 1Ri&@10:20 Bz (RPB{EEE)
11:20 288 150.0 B Rige11:20 Bz (REAERE)
12:35 288 150.0 S| Rige12:35 Bz (REERSR)
13:45 288 150.0 | =| 1Ri&e13:45 Bz (RB{EEE)
24t 1728.0 (6%) 900.0 3ESFHKEC: 2080.0, PH: 5.6

TERRHLER 2 STEELRT (187.0 :

ZRIAEBRIERL144.0 ml.

HEERECE (2625. 0 vs 3920.0) R

144.0), FlEEHT—R % XA HS
AEREMEC (2625.0) 5i%EEC (2000.0) RELK KA, B/E




FRV (ml plant-1)

P3-13_0, Day=38 (2025-05-08)
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P3-13

AyiE) | EBIATK (FD) | EBE (BEH/HK) | XHR SRR

08:25 288 150. 0 RS 1Ri&@08:25 Bz (REEEE)
09:20 288 150.0 (& =| 1Ri%e09:20 Bz (kBERESE)
10:15 288 150.0 el Rige10:15 Bal (REAEESE)
11:10 288 150.0 Bl Rige11:10 Bz (REAERSE)
12:05 288 150.0 B Rige12:05 Bz (REAERE)
13:00 288 150.0 S| 1Rige13:00 B3h (REEEER)
14:10 288 150. 0 | Ri%e14:10 Bz (REERESE)
15:35 288 150.0 BS| 1Ri%e15:35 B (GREMEESE)
23t 2304.0 (8%) 1200. 0 32933 KEC: 2080.0, PH: 5.8

TERRHLER 2 STEELRT (187.0 :

ZRIAEBRIERL144.0 ml.

HEEIHECE (2575.0 vs 3965.0) RS

144.0), FlEEHT—R % XA HS
BEREMEC (2575.0) H5i%EEC (2000.0) RELK KA, B/E




P3-13_0, Day=37 (2025-05-07)
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